

County Distribution Detail Report through 05/02/2015

Α	u	ro	ra

3/2015

2,431

3,585

10

6,026

\$7,532.50

\$150.79

\$7,381.71

0.70

\$5,167.20

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,306	1,827	0	3,133	\$3,916.25	\$97.95	\$3,818.30	0.70	\$2,672.81
							Entity Tota	ıl:	\$2,672.81
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,672.81
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	5,061	10,336	36	15,433	\$19,291.25	\$334.08	\$18,957.17	0.70	\$13,270.02
							Entity Tota	ıl:	\$13,270.02
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$13,270.02
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	940	1,084	2	2,026	\$2,532.50	\$58.01	\$2,474.49	0.70	\$1,732.14
							Entity Tota	ıl:	\$1,732.14
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,732.14
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

	Entity Total:	\$5,167.20
	Adjustment:	\$0.00
	Total Amount:	\$5,167.20
Brookings		

Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	10,306	19,580	74	29,960	\$37,450.00	\$757.70	\$36,692.30	0.70	\$25,684.61
							Entity Tota	l:	\$25,684.61
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$25,684.61
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	12,974	24,856	186	38,016	\$47,520.00	\$880.63	\$46,639.37	0.70	\$32,647.56
							Entity Tota	l:	\$32,647.56
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$32,647.56
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,820	3,443	4	6,267	\$7,833.75	\$160.46	\$7,673.29	0.70	\$5,371.30
							Entity Tota	l:	\$5,371.30
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,371.30
Buffalo									

Buffalo							Total Amo	unt.	ψ3,371.30
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	612	373	1	986	\$1,232.50	\$25.89	\$1,206.61	0.70	\$844.63
							Entity Tota	al:	\$844.63
							Adjustmer	nt:	\$0.00

Total Amount: \$844.63

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	3,117	6,051	10	9,178	\$11,472.50	\$221.68	\$11,250.82	0.70	\$7,875.57
							Entity Tota	ıl:	\$7,875.57
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,875.57
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	832	1,454	2	2,288	\$2,860.00	\$57.21	\$2,802.79	0.70	\$1,961.95
							Entity Tota	ıl:	\$1,961.95
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,961.95
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	3,384	5,121	8	8,513	\$10,641.25	\$213.99	\$10,427.26	0.70	\$7,299.08
							Entity Tota	d:	\$7,299.08
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,299.08
City of Box Elder, Me	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	70	9	0	79	\$98.75	\$0.32	\$98.43	0.70	\$68.90
							Entity Tota	ıl:	\$68.90
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$68.90
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	976	81	33	1,090	\$1,362.50	\$38.92	\$1,323.58	0.70	\$926.51
							Entity Tota	ıl:	\$926.51
							Adjustmen	t:	\$0.00

							Total Amo	ount:	\$926.51
City of Sioux Falls, L	incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	6,064	1,319	127	7,510	\$9,387.50	\$156.32	\$9,231.18	0.70	\$6,461.83
							Entity Tota	al:	\$6,461.83
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,461.83
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,676	2,462	2	4,140	\$5,175.00	\$103.54	\$5,071.46	0.70	\$3,550.02
							Entity Tota	al:	\$3,550.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,550.02
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,389	7,169	39	9,597	\$11,996.25	\$230.76	\$11,765.49	0.70	\$8,235.84
							Entity Tota	al:	\$8,235.84
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$8,235.84
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	9,019	18,604	116	27,739	\$34,673.75	\$614.07	\$34,059.68	0.70	\$23,841.78
							Entity Tota	al:	\$23,841.78
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$23,841.78
Corson									

VOIP

Lines

4

Total Lines

1,950

Surcharge

\$2,437.50

Admin Fee

\$48.82

Net Surcharge

\$2,388.68

Entity

0.70

Percent

Entity Amount

\$1,672.08

Wireless Lines

435

Reporting Period

3/2015

Telecom Lines

1,511

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,672.08
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	3,697	4,614	26	8,337	\$10,421.25	\$235.49	\$10,185.76	0.70	\$7,130.03
							Entity Tota	al:	\$7,130.03
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,130.03
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	6,902	13,331	181	20,414	\$25,517.50	\$479.36	\$25,038.14	0.70	\$17,526.70
							Entity Tota	al:	\$17,526.70
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$17,526.70
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,538	3,452	3	5,993	\$7,491.25	\$144.51	\$7,346.74	0.70	\$5,142.72
							Entity Tota	al:	\$5,142.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,142.72
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,193	2,815	5	5,013	\$6,266.25	\$138.86	\$6,127.39	0.70	\$4,289.17
							Entity Tota	al:	\$4,289.17
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,289.17
Douglas									

Entity Total:

\$1,672.08

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,477	2,095	4	3,576	\$4,470.00	\$89.42	\$4,380.58	0.70	\$3,066.41
							Entity Tota	ıl:	\$3,066.41
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,066.41
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,571	2,702	7	4,280	\$5,350.00	\$103.94	\$5,246.06	0.70	\$3,672.24
							Entity Tota	ıl:	\$3,672.24
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,672.24
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	3,547	3,924	11	7,482	\$9,352.50	\$189.07	\$9,163.43	0.70	\$6,414.40
							Entity Tota	ıl:	\$6,414.40
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$6,414.40
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,023	1,382	4	2,409	\$3,011.25	\$61.44	\$2,949.81	0.70	\$2,064.87
							Entity Tota	ıl:	\$2,064.87
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,064.87
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,874	5,206	10	8,090	\$10,112.50	\$194.62	\$9,917.88	0.70	\$6,942.52
							Entity Tota	nl:	\$6,942.52

	Adjustment:	\$0.00
	Total Amount:	\$6,942.52
Gregory		

Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,984	3,571	3	5,558	\$6,947.50	\$148.83	\$6,798.67	0.70	\$4,759.07
							Entity Tota	ıl:	\$4,759.07
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$4,759.07
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,097	1,348	5	2,450	\$3,062.50	\$61.26	\$3,001.24	0.70	\$2,100.87
							Entity Tota	ıl:	\$2,100.87
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,100.87
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,059	3,480	7	5,546	\$6,932.50	\$138.69	\$6,793.81	0.70	\$4,755.67
							Entity Tota	ıl:	\$4,755.67
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$4,755.67
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,403	2,557	6	3,966	\$4,957.50	\$85.83	\$4,871.67	0.70	\$3,410.17
							Entity Tota	ıl:	\$3,410.17
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,410.17
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2015	1,094	2,836	24	3,954	\$4,942.50	\$100.96	\$4,841.54	0.70	\$3,389.08
							Entity Tota	al:	\$3,389.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,389.08
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	752	783	1	1,536	\$1,920.00	\$48.27	\$1,871.73	0.70	\$1,310.21
							Entity Tota	al:	\$1,310.21
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,310.21
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	5,600	14,463	96	20,159	\$25,198.75	\$469.34	\$24,729.41	0.70	\$17,310.59
							Entity Tota	al:	\$17,310.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,310.59
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	3,457	4,838	8	8,303	\$10,378.75	\$207.60	\$10,171.15	0.70	\$7,119.81
							Entity Tota	al:	\$7,119.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,119.81
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	882	1,044	2	1,928	\$2,410.00	\$49.44	\$2,360.56	0.70	\$1,652.39
							Entity Tota	al:	\$1,652.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,652.39

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	753	847	0	1,600	\$2,000.00	\$40.06	\$1,959.94	0.70	\$1,371.96
							Entity Tot	al:	\$1,371.96
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,371.96
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,047	1,226	0	2,273	\$2,841.25	\$56.84	\$2,784.41	0.70	\$1,949.09
							Entity Tot	al:	\$1,949.09
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,949.09
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	609	672	3	1,284	\$1,605.00	\$32.12	\$1,572.88	0.70	\$1,101.02
							Entity Tot	al:	\$1,101.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,101.02
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,754	3,936	3	5,693	\$7,116.25	\$143.12	\$6,973.13	0.70	\$4,881.19
							Entity Tot	al:	\$4,881.19
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,881.19
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	3,438	8,990	13	12,441	\$15,551.25	\$298.94	\$15,252.31	0.70	\$10,676.62

							Entity Tota	al:	\$10,676.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,676.62
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	8,150	15,224	67	23,441	\$29,301.25	\$545.13	\$28,756.12	0.70	\$20,129.28
							Entity Tota	al:	\$20,129.28
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,129.28
Lincoln									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2013	-3,643	0	0	-3,643	\$-4,553.75	\$-91.08	\$-4,462.67	0.70	\$-3,123.87
3/2015	5,899	36,045	184	42,128	\$52,660.00	\$1,082.28	\$51,577.72	0.70	\$36,104.40
6/2013	-3,646	0	0	-3,646	\$-4,557.50	\$-91.15	\$-4,466.35	0.70	\$-3,126.45
8/2013	-3,622	0	0	-3,622	\$-4,527.50	\$-90.55	\$-4,436.95	0.70	\$-3,105.87
9/2013	-3,616	0	0	-3,616	\$-4,520.00	\$-90.40	\$-4,429.60	0.70	\$-3,100.72
10/2013	-3,628	0	0	-3,628	\$-4,535.00	\$-90.70	\$-4,444.30	0.70	\$-3,111.01
11/2012	-3,673	0	0	-3,673	\$-4,591.25	\$-91.82	\$-4,499.43	0.70	\$-3,149.60
11/2013	-3,634	0	0	-3,634	\$-4,542.50	\$-90.85	\$-4,451.65	0.70	\$-3,116.16
							Entity Tota	al:	\$14,270.72
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$14,270.72
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
3/2015	1,447	1,882	Lines 5	3,334	\$4,167.50	\$89.87	\$4,077.63	Percent 0.70	\$2,854.34
3/2010	.,	1,002	ŭ	0,001	ψ1,107.00	ψου.σ.	ψ1,017.00	0.70	ΨΣ,001.01
							Entity Tota	al:	\$2,854.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,854.34
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2015	2,021	2,680	8	4,709	\$5,886.25	\$120.95	\$5,765.30	0.70	\$4,035.71
							Entity Tota	l:	\$4,035.71
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,035.71
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,252	4,050	8	6,310	\$7,887.50	\$157.84	\$7,729.66	0.70	\$5,410.76
							Entity Tota	l:	\$5,410.76
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,410.76
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,195	1,417	1	2,613	\$3,266.25	\$79.24	\$3,187.01	0.70	\$2,230.91
							Entity Tota	l:	\$2,230.91
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,230.91
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	6,396	17,496	158	24,050	\$30,062.50	\$580.99	\$29,481.51	0.70	\$20,637.06
							Entity Tota	l:	\$20,637.06
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$20,637.06
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	654	640	0	1,294	\$1,617.50	\$32.37	\$1,585.13	0.70	\$1,109.59
							Entity Tota	l:	\$1,109.59
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,109.59

Willie									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,144	1,596	2	2,742	\$3,427.50	\$68.86	\$3,358.64	0.70	\$2,351.05
							Entity Tota	al:	\$2,351.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,351.05
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2013	3,643	0	0	3,643	\$4,553.75	\$91.08	\$4,462.67	0.70	\$3,123.87
3/2015	53,073	140,342	1,749	195,164	\$243,955.00	\$4,514.97	\$239,440.03	0.70	\$167,608.02
6/2013	3,646	0	0	3,646	\$4,557.50	\$91.15	\$4,466.35	0.70	\$3,126.45
8/2013	3,622	0	0	3,622	\$4,527.50	\$90.55	\$4,436.95	0.70	\$3,105.87
9/2013	3,616	0	0	3,616	\$4,520.00	\$90.40	\$4,429.60	0.70	\$3,100.72
10/2013	3,628	0	0	3,628	\$4,535.00	\$90.70	\$4,444.30	0.70	\$3,111.01
11/2012	3,673	0	0	3,673	\$4,591.25	\$91.82	\$4,499.43	0.70	\$3,149.60
11/2013	3,634	0	0	3,634	\$4,542.50	\$90.85	\$4,451.65	0.70	\$3,116.16
							Entity Tota	al:	\$189,441.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$189,441.70
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,575	4,404	10	5,989	\$7,486.25	\$173.51	\$7,312.74	0.70	\$5,118.92
							Entity Tota	al:	\$5,118.92
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,118.92
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	31,626	69,807	467	101,900	\$127,375.00	\$2,342.69	\$125,032.31	0.70	\$87,522.62
							Entity Tota	al:	\$87,522.62

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$87,522.62
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,888	2,407	6	4,301	\$5,376.25	\$117.68	\$5,258.57	0.70	\$3,681.00
							Entity Tota	al:	\$3,681.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,681.00
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,432	1,627	4	3,063	\$3,828.75	\$77.81	\$3,750.94	0.70	\$2,625.66
							Entity Tota	al:	\$2,625.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,625.66
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	4,182	4,518	8	8,708	\$10,885.00	\$240.03	\$10,644.97	0.70	\$7,451.48
							Entity Tota	al:	\$7,451.48
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,451.48
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	1,019	1,775	0	2,794	\$3,492.50	\$69.87	\$3,422.63	0.70	\$2,395.84
							Entity Tota	al:	\$2,395.84
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,395.84
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2015	2,472	4,467	18	6,957	\$8,696.25	\$166.67	\$8,529.58	0.70	\$5,970.71
							Entity Tota	al:	\$5,970.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,970.71
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	819	2,175	10	3,004	\$3,755.00	\$66.67	\$3,688.33	0.70	\$2,581.83
							Entity Tota	al:	\$2,581.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,581.83
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	852	1,110	1	1,963	\$2,453.75	\$48.91	\$2,404.84	0.70	\$1,683.39
							Entity Tota	al:	\$1,683.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,683.39
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	0	14	3	17	\$21.25	\$0.43	\$20.82	0.70	\$14.57
							Entity Tota	al:	\$14.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$14.57
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,806	3,757	7	6,570	\$8,212.50	\$164.26	\$8,048.24	0.70	\$5,633.77
							Entity Tota	al:	\$5,633.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,633.77

_		
	urner	
•	a	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,373	5,793	10	8,176	\$10,220.00	\$205.61	\$10,014.39	0.70	\$7,010.07
							Entity Tota	l:	\$7,010.07
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,010.07
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	4,897	11,766	50	16,713	\$20,891.25	\$483.18	\$20,408.07	0.70	\$14,285.65
							Entity Tota	l:	\$14,285.65
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$14,285.65
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	2,530	3,594	9	6,133	\$7,666.25	\$154.92	\$7,511.33	0.70	\$5,257.93
							Entity Tota	l:	\$5,257.93
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,257.93
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2015	6,768	14,551	24	21,343	\$26,678.75	\$484.58	\$26,194.17	0.70	\$18,335.92
							Entity Tota	l:	\$18,335.92
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$18,335.92
Totals	264,709	551,038	3,885	819,632	1,024,540.00	19,738.47	1,004,801.53		